EAGRAROBREERT — 2 N— ABISH —F

202078250 (£) SEEHSH

SUl SR BAIAER Y SR3®

EZS

‘ [REBE] — | & (&) 13000 R

[A&E£] 17 :1,200,000  ~ 23 :420,000 @ 37 :240,000 § ~ 4 3 :180,000 @ 5 7 :120,000 M

& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
e RRER :23. 00— . — mEE (FH)
11505 LAY ZINT— 4 3 5_051 1(2_3)5 3-2-2-2 | 39.2 1 (i?g) s =
RNZ—kb21—X B:LSAXFTNT— =N
S . BEEK :23. —3-3- . - AFE= (FH)
2 4| AT TAILR 5 € 54.0 (11213/28) 2383 .4 ! 234) AR
L:7UF—v B:TAIKRTIAR biYatse ]
TR 1ERHH : -1-1- — E#EEE (BH)
3lgl11| H>N> s i B e ° &7) Hehf s
L by HFT—ILE BENYLLLY SLhLT -5
s 3 | lIIEGA 1:24.6 7-7-7-7 [ 38.9| — 8 486 | IHERE (BH)
41810 PR N 56.0 (3/4) -2) [isEes
R:7UF—v B:INIT7ELTR FUI ME
NN XA . 4 _ BEXL (B
5 o|VT—KT7ErOr H 3 glmk 1.(214).8 4-4-4-4 | 40.2 2 (28) gﬁgzﬁémim
R:797>22970L B:7F1 M RSt U7—-F
o o e :25. —6-6- . — HpEZ (SH)
6 7| - EE=L #H 3 i 1(255)4 5-6-6-6 | 40.2 9 (4_53 s
R:bh—t>HhvLRY B:EHUTA BE f5—
_ FREMER . 55— - Hehsr (SH)
. 6| XE—YTRF 1T it 3 Zm (11215/27> 6-5-5-5 | 40.8 6 (4234) ZEEE%z
:T7—2 XM= B:YH/TIT BRBEHS
N KIEHFER : -9-9- — #lEE (FH)
gl1]1|axEHF>T H 3 2 1.(266).9 8-9-9-8 | 40.9 10 (5_232) Ll
:Er7FOvv B:YI/U3T HEBAYS
. o e L e :27. -8-8- . - BIFFRET (FH)
gl7l 9| E—E=Svunu 4 3 e 1(32/74)0 9-8-8-9 | 41.1 7 (esg)) ik =
LUTPNA T~ Biv—FT 1 X)=T =g &
. 4 3 | EREH 1:27.4 10-10-10-10{ 40.9 | — 1 460 | HEEX ()
10078 By bNTE> 56.0 ) -6) HOTET
R h—0 B hIHHEH— RS
R =S — - — — ITHER (FH)
e 3| 7vAV T & (+1E) ’ ff) REE—
ST ZART—YF— B:IZRTA b hEOKE
@ 1 —F—&EBlIEfL
13=7r= 11,4,5,2,7,6,10,1,9,8
A3|l=7r= 11,5,4,2,6,7,10,9,1,8
BEE 11,5,4,2,6,7,10,9,1,8
41—+ — 11,5,4,2,6,7,10,1,9,8
[ N3
BB 5 210H 714K 4-5 430M e 4-5 1,170M 3JEHE 4-5-11 3,240
8 B 5 1209 5-11 480M B = 4-5 1,120 K31 5-4-11 10,750M
4 230 4-11 820 | | B & 5-4 1,420
1 280M

ARICOVWTRDTEEERROODE. TR LI,




